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ICDS Main Exam Practice Set
Paper – IV (Arithmetic) Answers with Explanation

1. ²Ìí› ÞÝþ„þ öíöì„þ xyëû ­

` 100 ~îû ÞÝþ„þ öíöì„þ xyëû = `
13

4

` 4000 ~îû ÞÝþ„þ öíöì„þ xyëû
13 1

4000
4 100
    
 

= ` 130
ÞÝþ„þ!Ýþ !î!e« „þîûöìœ–
` 100 ~îû ÞÝþöì„þîû !îe«ëû›)œÄ = ` 87

` 4000 ~îû ÞÝþöì„þîû !îe«ëû›)œÄ
87

4000
100
   
 

= ` 3480

!m“þ#ëû ÞÝþ„þ öíöì„þ xyëû ­

` 3480 !î!˜öìëûy† öíöì„þ xyëû
25 1

3480
4 145
    
 

= ` 150
xyöìëû î,!kþ = (150 – 130) = ` 20

2. ` 100 ~îû ÞÝþ„þ !î!e« „þöìîû ²Ìy® •˜ 90 1.5
90

100

   
 

= (90 – 1.35) = ` 88.65

` 16000 ~îû ÞÝþ„þ !î!e« „þöìîû ²Ìy® •˜ 88.65
16000

100
   
 

       = ` 14184
3. ë…˜ A ~î‚ B ÷”!˜„þ 1 ‡ ù̂Ýþy „þy‹ „þöìîû–

 ”%‹öì̃ 1 !”öì̃  „þöìîû
1 1 7 6 13

48 56 336 336


   

ë…˜ ”%‹öì̃  ÷”!˜„þ 7 ‡ ù̂Ýþy „þy‹ „þöìîû– “þ…˜ !˜öì’Åëû ¢›ëû
336

13 7



= 3.7 !”˜ = 4 !”˜

4. •!îû– îyœ„þ = M ‡ ù̂Ýþy– = T
 M

1
T

1
 = M

2
T

2

 6 × 42 = 14 × T
2

 T
1

6 42

14


 = 18 ‡ ù̂Ýþy

5. A „þy‹!Ýþ öŸ¡ì „þîûöì“þ ¢›ëû ö˜ëû = x !”˜– B „þy‹!Ýþ öŸ¡ì „þîûöì“þ
¢›ëû ö˜ëû = 2x !”˜
C „þy‹!Ýþ öŸ¡ì „þîûöì“þ ¢›ëû ö˜ëû = 3x !”˜

²ÌÙÀy˜%¢yöìîû–
1 1 1 1

x 2x 3x 6
  

6 3 2 11 1

6x 6x 6

 
  

 C „þy‹!Ýþ öŸ¡ì „þîûöì“þ 33 !”˜ ¢›ëû ö˜ëûÐ

6. •!îû ›)œ•˜ = ` x ~î‚ ¢%öì”îû £yîû = R% îy!¡ìÅ„þ– “þy£öìœ
R

x x 3
100

    
 

 = 9440

 (100 + 3R)x = 944000 ... (i)

¢%öì”îû ˜“%þ˜ £yîû
125R 5R

% %
100 4
       
   

5R
x x 3

4 100
     

= 9800

 (80 + 3R)x = 784000   ...(ii)
(i) ö„þ (ii) !”öìëû ¦þy† „þîûöìœ ­

(100 3R) 944000 100 3R 59

(80 3R) 784000 80 3R 49

 
  

 

 4900 + 147R = 4720 + 177R
 30R = 180  R = 6
¢%“þîûy‚ ¢%öì”îû !˜öì’Åëû £yîû = 6% îy!¡ìÅ„þ
(i) ~ R = 6 î¢yöìœ ­

784000
8000

98
 

¢%“þîûy‚ ›)œ•˜ = ` 8000

7. •!îû þ™%öìeîû x‚Ÿ = ` x

“þy£öìœ „þ˜Äyîû x‚Ÿ = ` (375000 – x)
` x ~îû 6 îŠéöìîûîû ¢%” xy¢œ = ` (375000 – x) ~îû

4 îŠéöìîûîû ¢%” xy¢œ
5

x x 6
100

     
 

5
(375000 x) (375000 x) 4

100
        

13x 1
(375000 x) 1

10 5
     
 

13x 6(375000 x)

10 5


 

 13x = 12(375000 – x)  25x = 12 × 375000

12 375000
x 180000

25


  

 þ™%öìeîû x‚Ÿ = ` 180000

þ„þ˜Äyîû x‚Ÿ = ` (375000 – 180000) = ` 195000

8. •!îû ›)œ•˜ = ` x, ¢%öì”îû £yîû = R% îy!¡ìÅ„þ– ¢›ëû = 3 îŠéîûÐ
“þy£öìœ–

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢ÅxÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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(R 2) R
x 3 x 3 360

100 100

             

R 2 R
x 3 x 3 x 3 360

100 100 100
                   
     

6x 360 100
360 x 6000

100 6


    

 ›)œ•˜ = ` 6000
9. ²Ì”_ îûy!Ÿ

5 16 5 4 9 3     
10. •!îû Ÿ“þ„þ– ”Ÿ„þ ~î‚ ~„þöì„þîû xBþ ëíye«öì› x, y ~î‚ z

“þy£öìœ !˜öì’Åëû ¢‚…Äy = 100x + 10y + z

x + y + z = 6 ...(i) y =
x z

2


 x + z = 2y ...

(ii) ~î‚ (100z + 10y + x) – (100x + 10y + z) =
198  99z – 99x = 198  z – x = 2 ... (iii)
(ii) ~î‚ (i) öíöì„þ 3y = 6  y = 2 ¢%“þîûy‚ z + x = 4
... (iv)
(iii) ~î‚ (iv) ˜‚ ¢›y•y˜ „þöìîû þ™y£zþ z = 3, x = 1
¢%“þîûy‚ !˜öì’Åëû ¢‚…Äy (100 × 1 + 10 × 2 + 3) = 123

11. •!îû– !˜öì’Åëû ¢‚…Äy=!œ £œ ëíye«öì› 2x, 3x ~î‚ 4x.
“þy£öìœ– 4x2 + 9x2 + 16x2 = 116  29x2 = 116
 x2 = 4  x = 2
!˜öì’Åëû ¢‚…Äy=!œ £œ 4, 6 ~î‚ 8Ð

12. •!îû– a = 719 ~î‚ b = 187 “þy£öìœ–

²Ì”_ îûy!Ÿ
2 2 2 2

2 2 2 2

(a b) (a b) 2(a b )
2

(a b ) (a b )

   
  

 
13. 6 xöìBþîû Ç%þo“þ› ¢‚…Äy = 100000

100000 ö„þ 67 !”öìëû ¦þy† „þîûöìœ ¦þy†öìŸ¡ì = 36
¢%“þîûy‚ !˜öì’Åëû ¢‚…Äy = 100000 + (67 – 36)
= (100000 + 31) = 100031

14. •!îû– e«ëû›)œÄ = 100 Ýþy„þyÐ “þy£öìœ– !îe«ëû›)œÄ = 108 Ýþy„þy
•!îû– •yëÅ›)œÄ = x Ýþy„þy

x ~îû 90% = 108
90

x
100

   
 

 = 108

10
x 108 x 120

9
      
 

¢%“þyîûy‚ •yëÅ›)œÄöì„þ e«ëû›)œÄ öíöì„þ 20% öî!Ÿ !˜•Åyîû’ „þîûöì“þ
£öìîÐ

15. ~„þ vþ‹˜ !‹!˜öì¢îû e«ëû›)œÄ = P

~„þ vþ‹˜ !‹!˜öì¢îû !îe«ëû›)œÄ P 3P
12

8 2
    
 

œy¦þ
3P P

P
2 2
    
 

 Ýþy„þy

œy¦þ %
P 1

100 % 50%
2 P
     
 

16. •!îû e«ëû›)œÄ = x Ýþy„þy– œy¦þ
x

10
Ýþy„þy

 !îe«ëû›)œÄ
x 11x

x
10 10

    
 

 Ýþy„þy

11x 10
891 x 891 810

10 11
       
 

17. !îe«ëû›)œÄ = 6750 Ýþy„þy ~î‚ Çþ!“þ = 25%

 e«ëû›)œÄ
100

6750
75
   
 

= 9000 Ýþy„þy– œy¦þ = 15%

 !˜öì’Åëû !îe«ëû›)œÄ
115

9000
100
   
 

= 10350 Ýþy„þy

18. •!îû– ößþËyöì“þîû öî† = r !„þ!›/‡ ù̂Ýþy
~î‚ !ßþiîû ‹öìœ ö˜ï„þyîû †!“þöìî† = 5r !„þ!›/‡ ù̂Ýþy
 ²Ì!“þ„)þöìœ öî† = 5r – r = 4r !„þ!›/‡ ù̂Ýþy

15
4r 75

2
  

75 2
4r 10

15


  

10
r

4 2


    !„þ!›/‡ ù̂Ýþy

x˜%„)þöìœ öî†
5 5 25 5 30

5
2 2 2 2 2

           
   

 !„þ!›/‡ ù̂Ýþy

 !˜öì’Åëû ”)îûc
30

4 60
2

   !„þ!›

19. •!îû a = 15 !„þ!›/‡ ù̂Ýþy– b = 3 !„þ!›/‡ ù̂Ýþy
ößþËyöì“þîû !”öì„þ A öíöì„þ B þ™ëÅhsþ ëyçëûy ”)îûc
= v × t = (a + b) × t = 18t ... (i)

ößþËyöì“þîû !îþ™îû#öì“þþ B öíöì„þ C þ™ëÅhsþ ëyçëûy ”)îûc
= v × t = (a – b) × t = (15 – 3)t = 12t – 0
²ÌÙÀy˜%¢yöìîû– 18t – 12t = 24  6t = 24  t = 4 ‡ ù̂Ýþy
A öíöì„þ B þ™ëÅhsþ ëyçëûy ”)îûc = 18t = 18 × 4 = 72

B öíöì„þ C þ™ëÅhsþ ëyçëûy ”)îûc = 12t = 12 × 4 = 48

C öíöì„þ B ö“þ ößþËyöì“þîû !”öì„þ ¢›ëû œyöì†
D 48 48 8

t
V a b 18 3
   


2

t 2
3

 ‡ ù̂Ýþy

t = 2 ‡ ù̂Ýþy 40 !›!˜Ýþ

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å
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20. 3 !œÝþyîû ö‡yöìœ xÄyœöì„þy£öìœîû ›yey
20 3

3
100 5

    
 

 !œÝþyîû

~£z ö‡yöìœ ‹öìœîû ›yey
3 12

3
5 5

    
 

!œÝþyîû

˜“%þ˜ 5 !œÝþyîû ö‡yöìœ xÄyœöì„þy£öìœîû ›yey
3

5
  !œÝþyîû

 ~£z ö‡yöìœ xÄyœöì„þy£öìœîû
3

3 15% 100 % 100 % 12%
5 5 5

 
           

   
 

21. S²Ìí› ¦þyöì†îû œy¦þ V% S!m“þ#ëû ¦þyöì†îû œy¦þ V%
(7) (17)

6 4

†vþüœy¦
(11)

”%£z ¦þyöì†îû x˜%þ™y“þ = 6 : 4 = 3 : 2
7% œyöì¦þ !î!e«“þ !‰þ!˜

3 18
6 3.6

5 5
     
 

 „%þ£zrÝþyœ

22. ` 120000 ~îû 2 îŠéöìîûîû ö›yÝþ ¢%” = 25920

¢%öì”îû †vþü £yîû
100 25920

% 10.8%
120000 2

    
= 10.8% îy!¡ìÅ„þ

S²Ìí› ¢%öì”îû £yîûþ V% S!m“þ#ëû ¢%öì”îû £yîûþ V%
(10) (12)

1.2 0.8

†vþüœy¦
(10.8)

”%!Ýþ xöìíÅîû x˜%þ™y“þ
1.2 12 3

1.2 : 0.8 3: 2
0.8 8 2

    

10% £yöìîû ö”çëûy xíÅ
3

120000
5

   
 

= ` 72000

12% £yöìîû ö”çëûy xíÅ = (120000 – 72000) = ` 48000

23. ë“þ ¢›öìëû B 25 !›Ýþyîû ö”ïvþüyëû– “þ“þ ¢›öìëû A ö”ïvþüyëû
45

2


!›Ýþyîû
ë“þ ¢›öìëû B 1000 !›Ýþyîû ö”ïvþüyëû– “þ“þ ¢›öìëû A ö”ïvþüyëû

45 1
1000 900

2 25
     
 

!›Ýþyîû

¢%“þîûy‚ B, A ö„þ 100 !›Ýþyöìîû £yîûyëûÐ

24. ë“þ ¢›öìëû A 1000 !›Ýþyîû ”)îûc x!“þe«› „þöìîû– “þ“þ ¢›öìëû B,
(1000 – 40) !›Ýþyîû xíÅyê 960 !›Ýþyîû ”)îûc x!“þe«› „þöìîû
~î‚ C, (1000 – 64) = 936 !›Ýþyîû ”)îûc x!“þe«› „þöìîû
ë“þ ¢›öìëû B 960 !›Ýþyîû ”)îûc x!“þe«› „þöìîû– “þ“þ ¢›öìëû C
x!“þe«› „þöìîû = 936 !›Ýþyîû
ë“þ ¢›öìëû B 1000 !›Ýþyîû ”)îûc x!“þe«› „þöìîû– “þ“þ ¢›öìëû C

x!“þe«› „þöìîû
936

1000
960
   
 

= 975 !›Ýþyîû

¢%“þîûy‚ B, C ö„þ ²Ìyîû½þ ö”ëû = (1000 – 975) = 25 !›Ýþyöìîûîû
25. ßþ%ñÝþyöìîûîû ˜†” ”y› = ` 17050

6 ›y¢ þ™îû ²Ìöì”ëû ` 17940 ~îû î“Åþ›y˜ ›)œÄ

= `
100 17940 100 17940

17250
1 104100 8
2

 
                  

ßþ™ÜT“þ£z 17250 > 17050
¢%“þîûy‚ !m“þ#ëû öœ˜öì”˜!Ýþ x!•„þ œy¦þ‹˜„þÐ

26.
3

2
 îŠéöìîûîû ›£y‹˜# Šéyvþü = ` 360  2 îŠéöìîûîû ›£y‹˜# Šéyvþü

2
360 2 480

3
     
 

= ` 480

²Ìöì”ëû ›)œÄ =
S›£y‹˜# ŠéyvþüV  S²Ì„,þ“þ ŠéyvþüV
S›£y‹˜# ŠéyvþüV  S²Ì„,þ“þ ŠéyvþüV

×
–

480 400

80

   
 

= ` 2400

` 2400 ~îû 2 îŠéöìîûîû ¢îûœ ¢%” = ` 480

¢%“þîûy‚ ¢%öì”îû £yîû
100 480

2400 2

    
% îy!¡ìÅ„þ = 10% îy!¡ìÅ„þ

27. ²Ì„,þ“þ Šéyvþü
›£y‹˜# œy¦þ
¢%öì”îû £yîû  ¢›ëû

× 100

×

160 100

10 2

    
= ` 800

›£y‹˜# Šéyvþü = (800 + 160) = ` 960

²Ìöì”ëû ›)œÄ =
S›£y‹˜# ŠéyvþüV  S²Ì„,þ“þ ŠéyvþüV
S›£y‹˜# ŠéyvþüV  S²Ì„,þ“þ ŠéyvþüV

×
–

960 800

160

   
 

= ` 4800

28. ›£y‹˜# œy¦þ = ²Ì„,þ“þ Šéyöìvþüîû ¢îûœ ¢%”
9 8

300
12 100

    
 

= ` 18

 ›£y‹˜# Šéyvþü = S²Ì„,þ“þ ŠéyvþüV + S›£y‹˜# œy¦þV
= (300 + 18) = ` 318

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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29. •!îû– ²Ì„,þ“þ Šéyvþü = ` x. “þy£öìœ ›£y‹˜# Šéyvþü = `
6x

5

²Ìöì”ëû ›)œÄ =
S›£y‹˜# ŠéyvþüV  S²Ì„,þ“þ ŠéyvþüV
S›£y‹˜# ŠéyvþüV  S²Ì„,þ“þ ŠéyvþüV

×
–

6x
x

5
6x

x
5

  
 
  
 

= ` 6x

 6x ~îû 2 îŠéöìîûîû ¢%” = `
6x

5

¢%“þîûy‚ ¢%öì”îû £yîû

6x
100

5 %
6x 2

  
  

 
 

 îy!¡ìÅ„þ = 10% îy!¡ìÅ„þ

30. ²Ì„,þ“þ Šéyvþü × î“þþÅ›y˜  ›œ) Ä    ›£y‹˜# œy¦ þ

 5760 160  = ` 960

31. ²Ì„,þ“þ Šéyvþü =
›£y‹˜# Šéyvþü
¢%öì”îû £yîû ¢›ëû

× 100
×

405 100

9 3

    
= ` 1500

32. •!îû ”)îûc AB = ”)îûc BA = x !„þ!›

A öíöì„þ B þ™ëÅhsþ öëöì“þ ¢›ëû œyöì†
x

4
  ‡ ù̂Ýþy

B öíöì„þ A ö“þ xy¢öì“þ ¢›ëû œyöì†
x

6
  ‡ ù̂Ýþy

!˜öì’Åëû x˜%þ™y“þ
x x 1 1

: : 3: 2
4 6 4 6
  

33. ¢%¦þy¡ì
1

1
4

 ‡ ù̂Ýþyëû ëyëû
5

4
4

   
 

= 5 !„þ!›

¢%Ÿ#œ
1

1
4

 ‡ ù̂Ýþyëû ëyëû = (8 – 5) = 3 !„þ!›

¢%Ÿ#öìœîû †vþü †!“þöìî†
4 2

3 2
5 5

    
 

 !„þ!›/‡ ù̂Ýþy

34. ”%!Ýþ öÝþÆ̃  ‰þœyîû ¢›öìëûîû þ™yíÅ„þÄ = [(16 : 30) – (14 : 30)]
= 2 ‡ ù̂Ýþy
o&“þ †y!vþü!Ýþîû •#îû †!“þîû †y!vþüîû ¢yöìþ™öìÇþ †!“þ = (80 – 60)
= 20 !„þ!›/‡ ù̂Ýþy
›%Áºy£z ~:öì²Ì¢ 2 ‡ ù̂Ýþyëû ëyëû = (60 × 2) = 120 !„þ!›

xyöìþ™!Çþ„þ †!“þöì“þ 120 !„þ!› öëöì“þ ¢›ëû œyöì†
120

20
 = 6

‡ ù̂Ýþy
(6 + 2) ‡ ù̂Ýþyëû ›%Áºy£z ~:öì²Ì¢ ëyëû = (60 × 8) = 480 !„þ!›

¢%“þîûy‚ †y!vþü ”%!Ýþ !”!ÍÔ öíöì„þ 480 !„þ!› ”)îûöìc !›!œ“þ £öìîÐ
35. •!îû ö›yÝþ ”)îûc = x !„þ!› ~î‚ ßþºy¦þy!î„þ †!“þ = y !„þ!›/‡ ù̂Ýþy

“þy£öìœ

x x
4

y y 6
 
 .... (i)

x x
6

y 6 y
 

 .... (ii)

(i) öíöì„þ
1 1 y 6 y

x 4 x 4
y y 6 y(y 6)

    
          

6x
4

y(y 6)
 

 .... (iii)

(ii) öíöì„þ
1 1 y (y 6)

x 6 x 6
y 6 y y(y 6)

    
          

6x
6

y(y 6)
 

 .... (iv)

(iii) ö„þ (iv) !”öìëû ¦þy† „þîûöìœ ­

6x y(y 6) 4 y 6 2

y(y 6) 6x 6 y 6 3

 
   

 

 3y – 18 = 2y + 12  y = 30
(ii) ö„þ y = 30 !”öìëû ¦þy† „þîûöìœ ­

6x
4 x (4 180) 720

30 36
    


 ëyeyþ™öìíîû ö›yÝþ ”)îûc = 720 !„þ!›

36. •!îû vþzöìvþüy‹y£yöì‹îû ßþºy¦þy!î„þ †!“þ = x !„þ!›/‡ ù̂Ýþy– “þy£öìœ
1500 1500 1 1 1 1

x (x 250) 2 x (x 250) 3000
    
 

(x 250) x 1
x(x 250) 750000

x(x 250) 3000

 
    



 x2 + 250x – 750000 = 0
 x2 + 1000x – 750x – 750000 = 0
 x(x + 1000) – 750(x + 1000) = 0
 (x + 1000)(x – 750) = 0
 x = 750
 vþzöìvþüy‹y£yöì‹îû ßþºy¦þy!î„þ †!“þöìî† = 750 !„þ!›/‡ ù̂Ýþy

37. •!îû ²Ìyîû!½þ„þ †!“þ = x !„þ!›/‡ ù̂Ýþy “þy£öìœ
50 50 100 50

2 2
(x / 2) x x x

    

 2x = (100 – 50) = 50  x = 25
¢%“þîûy‚ ²Ìyîû!½þ„þ †!“þ = 25 !„þ!›/‡ ù̂Ýþy

38. •!îû ²Ìí› ö›yÝþîû ¢y£zöì„þœ xyöìîûy£# X ~î‚ !m“þ#ëû Y
•!îû X ~îû öÞÝþŸ˜ A öíöì„þ ‰þœyîû t ‡ ù̂Ýþy þ™öìîû ”%£z xyöìîûy£#
!›!œ“þ £ëûÐ

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



5Achievers
“þy£öìœ– (X t ‡ ù̂Ýþyëû ëyëûV + [Y(t – 1) ‡ ù̂Ýþyëû ëyëû] = 200 !„þ!›
 20t + 25(t – 1) = 200  45 t – 25 = 200

 45t = 225  t =
225

45
 = 5 ‡ ù̂Ýþy

¢%“þîûy‚ “þyîûy ”%‹˜ (7 ‡ ù̂Ýþy + 5 ‡ ù̂ÝþyV = ”%þ™%îû 12 Ýþyëû !›!œ“þ
£öìîÐ

39. •!îû vþzöìvþüy‹y£y‹– ö˜ï„þy ~î‚ ßþiœ¦þyöì† ëyey „þîûyîû ¢›ëû ëíye«öì›
x ‡ ù̂Ýþy– 16x ‡ ù̂Ýþy ~î‚ 2x ‡ ù̂Ýþy ~î‚ ~öì”îû †!“þ ëíye«öì› 20y
!„þ!›/‡ ù̂Ýþy– y !„þ!›/‡ ù̂Ýþy– 3y !„þ!›/‡ ù̂Ýþy
“þy£öìœ ö›yÝþ ”)îûc = [(20y × x) + (y × 16x) + (3y ×
2x)] !„þ!› = (42xy) !„þ!›

 42xy = 3990  xy =
3990

42
 xy = 95

ö›yÝþ ¢›ëû öœöì†öìŠé (x + 16x + 2x) = 19x ‡ ù̂Ýþy

3990
42 19x 42 3990

19x
    

3990
x x 5

19 42
   


x = 5 î¢yöìœ 5y = 95  y = 19

 x = 5 ~î‚ y = 19

¢%“þîûy‚ ö˜ï„þy „þöìîû ëyçëûy þ™í = (16 × x × y) = (16 ×
5 × 19) = 1520 !„þ!›

40. …îûöì†yöìŸîû †!“þ = 12 !„þ!›/‡ ù̂Ýþy
5 10

12
18 3

    
 

 !›./ö¢

„%þ„%þöìîûîû †!“þ = 16 !„þ!›/‡ ù̂Ýþy 5 40
16

18 9
    
 

 !›./ö¢

•!îû „%þ„%þîû t ö¢öì„þuþ þ™öìîû …îûöì†yŸöì„þ •îûöìîÐ

“þy£öìœ– t ö¢öì„þuþ „%þ„%þîû ëyëû
40t

9
   
 

 !›Ýþyîû

(t + 30) ö¢öì„þöìuþ …îûöì†yŸ ëyëû

 10
t 30

3
   !›Ýþyîû

 10 40t 40t 10t
t 30 100 200

3 9 9 3
       
 

(40t 30t)
200 10t 1800

9


   

 t = 180 ö¢öì„þuþ = 3 !›!˜Ýþ
¢%“þîûy‚ „%þ„%þîû …îûöì†yŸöì„þ 3 !›!˜Ýþ þ™öìîû •öìîû öšþœöìîÐ

41. •!îû †y!vþü=!œîû †!“þöìî† ëíye«öì› 2x, 3x ~î‚ 4x !„þ!›/‡ ù̂Ýþy
•!îû ~öì”îû myîûy x!“þe«yhsþ „þîûy ”)îûc = d !„þ!›
“þy£öìœ ~öì”îû ö˜çëûy ¢›öìëûîû x˜%þ™y“þ

d

2x
 ‡ ù̂Ýþy–

d

3x
 ‡ ù̂Ýþy ~î‚

d

4x
 ‡ ù̂Ýþy

!˜öì’Åëû x˜%þ™y“þ
d d d 1 1 1

: : : : 6 : 4 :3
2x 3x 4x 2 3 4
  

42. •!îû !˜öì’Åëû ”)îûc = x !„þ!›Ð “þy£öìœ
x x 12 x x 1

5 6 60 5 6 5
    

 6x – 5x = 6  x = 6
 “þyîû îy!vþü öíöì„þ !î”Äyœöìëûîû ”)îûc = 6 !„þ!›

43. •!îû– ”%!Ýþ ßþ%ñÝþyîû z !î %̈öì“þ !›!œ“þ £ëûÐ
²Ìí› ßþ%ñÝþyîû 2 ‡ ù̂Ýþyëû ëyëû = 100 !„þ!›

100 !„þ!›
z

x y

100 !„þ!› a   (40-a)

²Ìí› ßþ%ñÝþyîû ²Ìí› ßþ%ñÝþyîû !m“þ#ëû ßþ%ñÝþyîû
”%þ™%îû 12 Ýþy

 x !„þ!› ”)îûc öëöì“þ ¢›ëû œyöì†
x

50
  ‡ ù̂Ýþy

!m“þ#ëû ßþ%ñÝþyîû (40 – x) !„þ!› öëöì“þ ¢›ëû ö˜ëû
40 z

30




x 40 x

50 30


 

 3x = 200 – 5x  8x = 200  x = 25 !„þ!›
 A ~îû 25 !„þ!› öëöì“þ ¢›ëû œyöì†

25 1
30

50 2
    !›!˜Ýþ

”%öìÝþy ßþ%ñÝþyöìîûîû !›!œ“þ £çëûyîû ¢›ëû = 12:30 p.m.
44. îy¢ ç ö›öìÝþÆyîû †vþü †!“þöìî† 30 !„þ!›/‡ ù̂Ýþy ~î‚ 60 !„þ!›/‡ ù̂Ýþy

îy¢ ~î‚ ö›öìÝþÆy myîû x!“þe«› „þîûy ”)îûc x ~î‚ 6x
„þyëÅßþiyöì̃  öþ™¤ïŠéyöì“þ ¢›ëû œyöì† = 1 ‡ ù̂Ýþy
²ÌÙÀy˜%¢yöìîû

x 6x
1

30 60
    ‡ ù̂Ýþy

2x 6x
1

60


 

8x
1

60
 

60
x 7.5

8
    !„þ!›

ö›yÝþ x!“þe«yhsþ ”)îûc = x + 6x = 7x = 7 × 7.5 = 52.5
!„þ!›

45. ²Ì”_ xyöìŠé x
1
 = 160 !„þ!›– S

1
 = 64 !„þ!›/‡ ù̂Ýþy

x
2
 = 160 !„þ!›– S

2
 = 80 !„þ!›/‡ ù̂Ýþy

320 !„þ!› ”)îûc öëöì“þ ö›yÝþ ¢›ëû

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 8– £z¢%Ä éôé 8  ˜öì¦þÁºîû– 20206

160 160
2.5 2 4.5

64 80
      ‡ ù̂Ýþy

†vþü †!“þöìî† 320
71.11

4.5
   !„þ!›/‡ ù̂Ýþy

46. x!“þe«yhsþ ”)îûc = 300 !„þ!›

‡ ù̂Ýþyëû x!“þe«yhsþ „þîûy ”)îûc = 300 ~îû 40
300 40

100




= 120 !„þ!›
öÝþÆöì̃ îû †!“þ = 60 !„þ!›/‡ ù̂Ýþy
îy!„þ ”)îûc öëöì“þ öÝþÆöì̃ îû †!“þ

180 !„þ!› ”)îûc ”%£z ‡ ù̂Ýþyëû öëöì“þ öÝþÆöì̃ îû †!“þ
180

90
2

 

!„þ!›/‡ ù̂Ýþy
†!“þ î,!kþ = 90 – 60 = 30 !„þ!›/‡ ù̂Ýþy

47. !›¢y£zöìœîû †!“þöìî† = 1386 !„þ!›/‡ ù̂Ýþy

5
1386 385

18
    
 

 !›Ýþyîû/ö¢öì„þuþ

¢%“þîûy‚ ~„þ ö¢öì„þöìuþ !›¢y£zœ 385 !›Ýþyîû ”)îûc x!“þe«› „þöìîûÐ
48. •!îû öÝþÆöì̃ îû †!“þ = x !„þ!›/‡ ù̂Ýþy

öÝþÆ˜ ~î‚ ¢y›öì˜ öíöì„þ xy¢y îÄ!_«îû xyöìþ™!Çþ„þ †!“þ =
(x + 3) !„þ!›/‡ ù̂Ýþy

5 240
(x 3) 5(x 3) 432

18 10
      

 5x = (432 – 15) = 417  x = 83.4
 öÝþÆöì̃ îû †!“þ = 83.4 !„þ!›/‡ ù̂Ýþy

49. ›yœ†y!vþü ”%!Ýþîû xyöìþ™!Çþ„þ †!“þ = (45 + 30) !„þ!›/‡ ù̂Ýþy

5 125
75

18 6
    
 

 !›Ýþyîû/ö¢öì„þuþ

x!“þe«› „þîûy ”)îûc = (500 + 500) = 1000 !›Ýþyîû

!˜öì’Åëû ¢›ëû 6
1000 48

125
    
 

ö¢öì„þuþ

50. •!îû öÝþÆöì̃ îû ÷”‡ÅÄ = L !›Ýþyîû ~î‚ †!“þ = x !›Ýþyîû/ö¢öì„þuþÐ
“þy£öìœ

(96 L) (141 L)

12 15

 
  15(96 + L) = 12(141 + L)

 3L = (1692 – 1440) = 252  L 84
 öÝþÆöì̃ îû ÷”‡ÅÄ = 84 !›Ýþyîû

†!“þ
(96 84)

12


  !›Ýþyîû/ö¢öì„þuþ

180 18
54

12 5
    
 

 !„þ!›/‡ ù̂Ýþy

51. •!îû ²Ìí› öÝþÆöì̃ îû ÷”‡ÅÄ = 2x !›Ýþyîû ~î‚ !m“þ#ëû öÝþÆöì̃ îû ÷”‡ÅÄ
= x !›Ýþyîû

~öì”îû xyöìþ™!Çþ„þ †!“þ = (48 + 42) !„þ!›/‡ ù̂Ýþy

5
90

18
   
 

 !›Ýþyîû/ö¢öì„þuþ = 25 !›Ýþyîû/ö¢öì„þuþ

(2x x)
12 3x 300 x 100

25


     

²Ìí›!Ýþîû ÷”‡ÅÄ = 200 !›Ýþyîû
•!îû ²ÕÄyÝþšþöì›Åîû ÷”‡ÅÄ = y !›Ýþyîû

(200 y) 5 40
48 600 3y 1800

45 18 3

         
 

 3y = 1200  y = 400

¢%“þîûy‚ ²ÕÄyÝþšþöì›Åîû ÷”‡ÅÄ = 400 !›Ýþyîû
52. !îöìŸ¡ì ¢‚!Çþ® !˜ëû› ­

X ~îû †!“þ
Y ~îû †!“þ

Y ~îû ~ þ™ëÅhsþ öþ™¤ïŠéöì̃ yîû ¢›ëû
X B~îû ~ þ™ëÅhsþ öþ™¤ïŠéöì̃ yîû ¢›ëû

A
=

1

2

45 10 5 25 5

y 3 24 36 6
    

6 45
y y 54

5


   

 Y ~îû †!“þ = 54 !„þ!›/‡ ù̂Ýþy
53. o&“þ †!“þîû öÝþÆ˜!Ýþîû •#îû †!“þîû öÝþ Æ˜!Ýþîû ¢yöìþ™öìÇþ †!“þ

= (72 – 60) !„þ!›/‡ ù̂Ýþy

5 10
12

18 3
    
 

 !›Ýþyîû/ö¢öì„þöìuþ

!˜öì’Åëû ¢›ëû = xyöìþ™!Çþ„þ †!“þöì“þ (240 + 240) !›Ýþyîû x!“þe«›

„þîûöì“þ †,£#“þ ¢›ëû 3
480 144

10
    
 

 ö¢öì„þuþ

   = 2 !›!˜Ýþ 24 ö¢öì„þuþ
54. •!îû ²Ìí› öÝþÆöì̃ îû ÷”‡ÅÄ = x !›Ýþyîû ~î‚ !îÊöì‹îû ÷”‡ÅÄ = y !›Ýþyîû

²Ìí› öÝþÆöì̃ îû †!“þöìî†

5
90 25

18
    
 

 !›Ýþyîû/ö¢öì„þuþ

(x y)
36 x y 900

25


    

!m“þ#ëû öÝþÆöì̃ îû ÷”‡ÅÄ = (x – 100) !›Ýþyîû– !îÊöì‹îû ÷”‡ÅÄ = y
!›Ýþyîû
!m“þ#ëû öÝþÆöì̃ îû †!“þ

5 25
45

18 2
    
 

 !›Ýþyîû/ö¢öì„þuþ

!îÊ‹ x!“þe«› „þîûöì“þ öÝþÆ̃ !Ýþ ¢›ëû ö˜ëû

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



7Achievers
(x 100) y

(25 / 2)

 
  ö¢öì„þuþ

 2 (x y) 100 2(x y) 200

25 25

        
 ö¢öì„þuþ

(2 900 200) 1600
64

25 25

 
    ö¢öì„þuþ

55. •!îû öÝþÆöì̃ îû ÷”‡ÅÄ = x !›ÝþyîûÐ “þy£öìœ

x (600 x)
35x 3000 5x

5 35


   

 30x = 3000  x = 100

¢%“þîûy‚ öÝþÆöì̃ îû ÷”‡ÅÄ = 100 !›Ýþyîû

öÝþÆöì̃ îû †!“þ
100

5
  !›Ýþyîû/ö¢öì„þuþ

18
20 72

5
    
 

!„þ!›/‡ ù̂Ýþy

56. ‰þœhsþ öÝþÆöì̃ îû †!“þ
5 70

84
18 3

    
 

 !›Ýþyîû/ö¢öì„þuþ

!ßþiîû öÝþÆ̃ !Ýþ x!“þe«› „þîûöì“þ x!“þe«yhsþ ”)îûc = (210 + 210)
= 420 !›Ýþyîû

!˜öì’Åëû ¢›ëû 3
420 18

70
    
 

ö¢öì„þuþ

57. öÝþÆ̃  ”%!Ýþîû xyöìþ™!Çþ„þ †!“þ = (80 + 55) !„þ!›/‡ ù̂Ýþy

5 75
135

18 2
    
 

 !›Ýþyîû/ö¢öì„þuþ

ö›yÝþ ”)îûc = (90 + 120 + 90) = 300 !›Ýþyîû

!˜öì’Åëû ¢›ëû
2

300 8
75

    
 

ö¢öì„þuþ

58. •!îû !m“þ#ëû öÝþÆöì̃ îû †!“þ = x !„þ!›/‡ ù̂Ýþy
xyöìþ™!Çþ„þ †!“þ = (60 + x) !„þ!›/‡ ù̂Ýþy

5
(60 x)

18
     

 !›Ýþyîû/ö¢öì„þuþ

(60 x) 5 (180 270)
(60 x)

18 10.8

  
   

4500 18
60 x 150

108 5
      
 

x 90   !„þ!›/‡ ù̂Ýþy
59. !m“þ#ëû öÝþÆöì̃ îû ÷”‡ÅÄ !˜’Åëû „þîûyîû ‹˜Ä “þyîû †!“þ !˜’Åëû „þîûy

xyîŸÄ„þÐ !„þlsþ ~…yöì̃  “þy ö˜£zÐ
¢%“þîûy‚ ~îû ÷”‡ÅÄ !˜’Åëû „þîûy ëyöìî ˜yÐ

60. •!îû öÝþÆöì̃ îû †!“þ = x !„þ!›/‡ ù̂Ýþy
îÄ!_« ~î‚ öÝþÆöì̃ îû xyöìþ™!Çþ„þ †!“þ ëíye«öì› (x – 3) !„þ!›/‡ ù̂Ýþy
~î‚ (x – 6) !„þ!›/‡ ù̂Ýþy

5 5
(x 3) 9 (x 6) 10

18 18
       

 9(x – 3) = 10(x – 6)  x = 33
!˜öì’Åëû †!“þ = 33 !„þ!›/‡ ù̂Ýþy

61. •!îû öÝþÆ̃  ”%!Ýþîû †vþü †!“þ ëíye«öì› x !„þ!›/‡ ù̂Ýþy ~î‚ y !„þ!›/‡ ù̂Ýþy
ë…˜ ”%!Ýþ öÝþÆ̃  ~„þ¢yöìí ~öì„þ xþ™öìîûîû !”öì„þ ëyëû “þ…˜ xyöìþ™!Çþ„þ
†!“þ = (x + y) !„þ!›/‡ ù̂Ýþy
 10(x + y) = 650  x + y = 65   ...(i)

!m“þ#ëû xîßþiyëû ²Ìí› öÝþÆ̃ !Ýþ !m“þ#ëû öÝþÆöì̃ îû öíöì„þ
20

4
60

 ‡ ù̂Ýþy

xíÅyê
13

3
 ‡ ù̂Ýþy xyöì† ‰þöìœÐ

²Ìí› öÝþÆ̃
13

3
 ‡ ù̂Ýþyëû ëyëû

13x

3
  !„þ!›

îy!„þ ”)îûc (x + y) !„þ!›/‡ ù̂Ýþyëû †!“þöì“þ 8 ‡ ù̂Ýþyëû ëyëû

13x 13x
8(x y) 650 8 65 650

3 3
       

13x 130 3
(650 520) 130 x x 30

3 13


       

(i) ~ x = 30 î¢yöìœ y = 35
¢%“þîûy‚ öÝþÆ̃  ”%!Ýþîû †!“þöìî† ëíye«öì› 30 !„þ!›/‡ ù̂Ýþy ~î‚ 35
!„þ!›/‡ ù̂Ýþy

62. •!îû ö›yÝþ ”)îûc = x !„þ!› ~î‚ ßþºy¦þy!î„þ †!“þ = y !„þ!›/‡ ù̂Ýþy

(x 30) (x 30) 45

4 y 60

 
 

5(x 30) (x 30) 3

4y y 4

 
  

 (5x – 150) – (4x – 120) = 3y
 x – 3y = 30 ...(i)
“þy£öìœ

(x 48) (x 48) 36
4 y 60y
5

 
 

5(x 48) (x 48) 3

4y y 5

 
  

 25(x – 48) – 20(x – 48) = 12y
 5x – 12y = 240 ...(ii)
(i) ö„þ 5 !”öìëû =’ „þöìîû (ii) öíöì„þ !îöìëûy† „þîûöìœ ­
3y = 90  y = 30

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 8– £z¢%Ä éôé 8  ˜öì¦þÁºîû– 20208

¢%“þîûy‚ öÝþÆöì̃ îû ßþºy¦þy!î„þ †!“þ 30 !„þ!›/‡ ù̂Ýþy

63. öÝþÆöì̃ îû †!“þ
5

54
18

   
 

 !›Ýþyîû/ö¢öì„þuþ = 15 !›Ýþyîû/ö¢öì„þuþ

xyöìþ™!Çþ„þ †!“þ = (54 – 6) !„þ!›/‡ ù̂Ýþy
5

48
18

   
 

 !›Ýþyîû/

ö¢öì„þuþ
40

3
  !›Ýþyîû/ö¢öì„þuþ

•!îû öÝþÆöì̃ îû ÷”‡ÅÄ = x !›Ýþyîû
îÄ!_«öì„þ x!“þe«› „þîûöì“þ öÝþÆöì̃ îû ¢›ëû œyöì†

x 3x

(40 / 3) 40
   ö¢öì„þuþ

3x (12 40)
12 x 160

40 3


    

¢%“þîûy‚ öÝþÆöì̃ îû ÷”‡ÅÄ = 160 !›Ýþyîû
•!îû ²ÕÄyÝþšþöì›Åîû ÷”‡ÅÄ = y !›Ýþyîû

²ÕÄyÝþšþ›Å x!“þe«› „þîûöì“þ ¢›ëû œyöì†
(160 y)

15


  ö¢öì„þuþ

(160 y)
20 (160 y) 300 y 140

15


      

¢%“þîûy‚ ²ÕÄyÝþšþöì›Åîû ÷”‡ÅÄ = 140 !›Ýþyîû
64. ²Ìí› öÝþÆöì̃ îû †!“þ

5 125
75

18 6
    
 

 !›Ýþyîû/ö¢öì„þuþ

!m“þ#ëû öÝþÆöì̃ îû †!“þ

5 50
60

18 3
    
 

 !›Ýþyîû/ö¢öì„þuþ

!îþ™îû#“þ !”öì„þ ö†öìœ xyöìþ™!Çþ„þ †!“þ

125 50 225

6 3 6
    
 

 !›Ýþyîû/ö¢öì„þuþ

~öì„þ xþ™îûöì„þ x!“þe«› „þîûöì“þ ¢›ëû ö˜ëû = 8 ö¢öì„þuþ
”%!Ýþ öÝþÆöì̃ îû ÷”öì‡ÅÄîû öëy†

225
8 300

6
    
 

!›Ýþyîû

~„þ£z !”öì„þ ö†öìœ xyöìþ™!Çþ„þ †!“þ

125 50 25

6 3 6
    
 

 !›Ýþyîû/ö¢öì„þuþ

63

2
 ö¢öì„þöìuþ ~£z †!“þöì“þ ëyëû

25 63

6 2
   
 

 !›Ýþyîû

xþ™îû öÝþÆöì̃ îû ÷”‡ÅÄ = 131.25 !›Ýþyîû
²Ìí› öÝþÆöì̃ îû ÷”‡ÅÄ = (300 – 131.25) = 168.75 !›Ýþyîû

65. •!îû ößþËyöì“þîû †!“þ = x !„þ!›/‡ ù̂Ýþy ~î‚ ”)îûc = y !„þ!›
ößþËyöì“þîû !”öì„þ †!“þ = (3.5 + x) !„þ!›/‡ ù̂Ýþy
ößþËyöì“þîû !îþ™îû#öì“þ †!“þ = (3.5 – x) !„þ!›/‡ ù̂Ýþy

5
yy 1 52

(3.5 x) (3.5 x) (3.5 x) 2(3.5 x)
   

   
 7 + 2x = 17.5 – 5x  7x = 10.5  x = 1.5
¢%“þîûy‚ ößþËyöì“þîû öî† = 1.5 !„þ!›/‡ ù̂Ýþy

66. !ßþiîû ‹öìœ ¢¤y“þyîû&îû †!“þ = x !„þ!›/‡ ù̂Ýþy ~î‚ ößþËyöì“þîû †!“þ =
y !„þ!›/‡ ù̂Ýþy
ößþËyöì“þîû !”öì„þ ¢¤y“þyîû&îû †!“þ = (x + y) !„þ!›/‡ ù̂Ýþy
ößþËyöì“þîû !îþ™îû#öì“þ ¢¤y“þyîû&îû †!“þ = (x – y) !„þ!›/‡ ù̂Ýþy

d d 21

(x y) (x y) 4
  

  ....(i) ~î‚

2d d 7
7

(x y) (x y) 2
  

  ....(ii)

(ii) ~ (i) ~ ›y˜ î¢yöìœ
d 7 21

(x y) 2 4
 



d 21 7 7 2d 7

(x y) 4 2 4 (x y) 2
         

!˜öì’Åëû ¢›ëû
7

2
  ‡ ù̂Ýþy = 3 ‡ ù̂Ýþy 30 !›!˜Ýþ

67. •!îû !ßþiîû ‹öìœ ö˜ï„þyîû †!“þ = x !„þ!›/‡ ù̂ÝþyÐ “þy£öìœ

6 6 1 1
2 6 2

(x 4) (x 4) (x 4) (x 4)

 
         

2(x 4) (x 4) 2
x 16 6x

(x 4)(x 4) 6 3

   
     

 
 x2 – 6x – 16 = 0  x2 – 8x + 2x – 16 = 0
 x(x – 8) + 2(x – 8) = 0
 (x – 8)(x + 2) = 0  x = 8
 !ßþiîû ‹öìœ ö˜ï„þyîû †!“þ = 8 !„þ!›/‡ ù̂Ýþy
ößþËyöì“þîû ²Ì!“þ„)þöìœ †!“þ = (8 – 4) = 4 !„þ!›/‡ ù̂Ýþy

!˜öì’Åëû ¢›ëû
6 3 1

1
4 2 2
    ‡ ù̂Ýþy

68. !ßþiîû ‹öìœ ö˜ï„þyîû †!“þ = 36 !„þ!›/‡ ù̂Ýþy
•!îû ößþËyöì“þîû †!“þ = x !„þ!›/‡ ù̂Ýþy

ößþËyöì“þîû !îþ™îû#öì“þ ö˜ï„þyîû †!“þ
56 56 4

32
7 / 4 7

        
   

!„þ!›/‡ ù̂Ýþy
 36 – x = 32  x = (36 – 32) = 4
¢%“þîûy‚ ößþËyöì“þîû †!“þ = 4 !„þ!›/‡ ù̂Ýþy
ößþËyöì“þîû x˜%„)þöìœ 56 !„þ!› öëöì“þ ¢›ëû œyöì†

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



9Achievers
56 56 7

(36 4) 40 5
  

  ‡ ù̂Ýþy = 1 ‡ ù̂Ýþy 24 !›!˜Ýþ

69. ößþËyöì“þîû !îþ™îû#“þ ¢¤y“þyîû&îû = †!“þ
3 1

60 3
4 15
     
 

 !„þ!›/‡ ù̂Ýþy

ößþËyöì“þîû !”öì„þ ¢¤y“þyîû&îû †!“þ
3 1 9

60
4 10 2
     
 

!„þ!›/‡ ù̂Ýþy

!˜öì’Åëû x˜%þ™y“þ
1 9 1 9 15 3

3 : 3 : 5 :1
2 2 2 2 2 2
          
   

70. ößþËyöì“þîû !îþ™îû#öì“þ ö˜ï„þyîû †!“þ
12

60
48
   
 

= 15 !„þ!›/‡ ù̂Ýþy

•!îû !ßþiîû ‹öìœ ö˜ï„þyîû †!“þ = x !„þ!›/‡ ù̂Ýþy
ößþËyöì“þîû †!“þ = 2 !„þ!›/‡ ù̂Ýþy
 x – 2 = 15  x = 17
¢%“þîûy‚ !ßþiîû ‹öìœ ö˜ï„þyîû †!“þ = 17 !„þ!›/‡ ù̂Ýþy

71. •!îû 1 ~„þ„þ !ßþ™!îûöìÝþîû e«ëû›)œÄ = ` 100
“þy£öìœ 1 ~„þ„þ !›×öì’îû !îe«ëû›)œÄ = ` 100, œy¦þ = 20%
•!îû 1 ~„þ„þ !›×öì’îû e«ëû›)œÄ = ` x Ð “þy£öìœ

120 100 100 250
x 100 x

100 120 3


    

S ~„þ„  !ßþ™!îûöìÝþîû e«ëû›)œÄþV1 S ~„þ„þ ‹öìœîû e«ëû›)œÄV1

(  100)`

†vþü›)œÄ

(  0)`

250

3
 
 
 
`

250

3

50

3

!˜öì’Åëû x˜%þ™y“þ
250 50

:
3 3

  = 250 : 50 = 5 : 1

72. 1 !„þ@ùÌy !›×öì’îû !îe«ëû›)œÄ = ` 96, œy¦þ = 20%
•!îû 1 !„þ@ùÌy !›×öì’îû e«ëû›)œÄ = ` xÐ “þy£öìœ

x ×
120

100
 = 96  12x = 960  x = 80

 1 !„þ@ùÌy !›×öì’îû e«ëû›)œÄ = ` 80

S !„þ@ùÌy Ökþ !‡öìëûîû e«ëû›)œÄþV1 S !„þ@ùÌy ¢hßþy !‡öìëûîû e«ëû›)œÄþV1

(  100)`

†vþü›)œÄ

(  50)`

(  80)`

30 20

!˜öì’Åëû x˜%þ™y“þ = 30 : 20 = 3 : 2

73. !›×öì’îû !˜ëû› myîûy ­

S !„þ@ùÌy ¢hßþy ‰þyöìœîû e«ëû›)œÄþV1 S !„þ@ùÌy ”y!› ‰þyöìœîû e«ëû›)œÄþV1

(  30)`

†vþü›)œÄ

(  40)`

(  33)`

7 3
!˜öì’Åëû x˜%þ™y“þ = 7 : 3

74. !›×öì’îû !˜ëû› myîûy ­

S²Ìí› !›×öì’ xÄyœöì„þy£œV S!m“þ#ëû !›×öì’ xÄyœöì„þy£œV

(30%)

S˜“%þ˜ !›×öì’ xÄyœöì„þy£œV

(50%)

15 5

(35%)

!˜öì’Åëû x˜%þ™y“þ = 15 : 5 = 3 : 1

75. •!îû Öîû&öì“þ oî˜ A ~î‚ B ëíye«öì› 7x !œÝþyîû ~î‚ 5x !œÝþyîû
!ŠéœÐ

~…˜ ö›yÝþ !›×’ = (12x – 9) !œÝþyîû

~£z !›×öì’ A = (12x – 9) ×
7

12
~î‚ B = (12x – 9)

×
5

12
xyîyîû ¦þîûöìœ–

7 (84x 63) (28x 21)
A (12x 9)

12 12 4

 
    

~î‚
5 (60x 45)

B (12x 9) 9 9
12 12


     

(60x 45 108) 60x 63 (20x 21)

12 12 4

   
  

(28x 21) 4 7

4 (20x 21) 9


  



 7(20x + 21) = 9(28x – 21)
 (252 – 140)x = 147 + 189 = 336
 112x = 336  x = 3

xyîyîû ¦þîûöìœ– A = (7 × 3) = 21 !œÝþyîû

76. •!îû A ö“þ ”%•
5

8
 !œÝþyîû– B ö“þ ”%•

2

5
 !œÝþyîû ~î‚ !›×öì’ ”%•

1

2
 !œÝþyîû

•!îû 1 !œÝþyîû ”%öì•îû e«ëû›)œÄ = ` 1Ð “þy£öìœ !›×öì’îû !˜ëû› myîûy

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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S ö“þ  !œÝþyîû !›×öì’îû e«ëû›)œÄV1 1

†vþü›)œÄ

S ö“þ  !œÝþyîû !›×öì’îû e«ëû›)œÄV1 1
5
8

2

5

1
10

1

8

1

2

A : B =
1 1

:
10 8

= 4 : 5

77. S²Ìí› ¦þyöì†îû œy¦þ V% S!m“þ#ëû ¦þyöì†îû œy¦þ V%
(8) (18)

4 6

†vþüœy¦
(14)

S²Ìí› ¦þy†V ­ S!m“þ#ëû ¦þy†V = 4 : 6 = 2 : 3

8% œyöì¦þ !î!e« „þîûy ¦þy†

2
1000 400

5
    
 

 !„þ@ùÌy

78. •!îû– !›×öì’îû †vþü›)œÄ = a Ýþy„þy/ö„þ!‹
 …yîûyþ™ ›yöì̃ îû !‰þ!˜îû ›)œÄ = (a – 0.75) Ýþy„þy/ö„þ!‹
¦þyöìœy›yöì̃ îû !‰þ!˜îû ›)œÄ = (a + 0.5) Ýþy„þy/ö„þ!‹
!›×öì’îû ¢)e myîûy

a + 0.5 a – 0.75

a

a – a + 0.75 = 0.75 a + 0.5 – a = 0.5

 !˜öì’Åëû x˜%þ™y“þ = 0.75 : 0.5 = 3 : 2

79. 2 îŠéöìîûîû ¢%” = (3000 – 2900) = ` 100

 8 îŠéöìîûîû ¢%”
1

100 8
2

    
 

 = ` 400

 ›)œ•˜ = (2900 – 400) = ` 2500

¢%” = ` 400, ¢›ëû = 8 îŠéîû

¢%öì”îû £yîû
100 400

2%
2500 8

    

80. •!îû ²Ìöì“þÄ„þ îûy!Ÿ = xÐ “þy£öìœ
15 1 15 1

x 5 x 4 150
2 100 2 100

             
   

3x 3x
150 15x 12x 6000

8 10
     

 3x = 6000  x = 2000
¢%“þîûy‚ ²Ìöì“þÄ„þ îûy!Ÿ = ` 2000

81. •!îû !˜öì’Åëû •˜îûy!Ÿ = ` x

x 3 x 6 x 8
1 1 1 600

3 100 6 100 2 100
                  
     

x x 4x
600

100 100 100
   

 6x = 600 × 100  x = 10000
 !˜öì’Åëû îûy!Ÿ = ` 10000

82. ›)œ•˜ = ` 2400, îŠéîû = 4 îŠéîû
¢îûœ ¢%” = (3264 – 2400) = ` 864

¢%öì”îû £yîû
100 864

2400 4

    
 îy!¡ìÅ„þ = 9% îy!¡ìÅ„þ

˜“%þ˜ ¢%öì”îû £yîû = 10% îy!¡ìÅ„þ

{!°“þ ¢%”
10

2400 4
100

    
 

= ` 960

¢%”éôéxy¢œ = (2400 + 960) = ` 3360
83. •!îû ›)œ•˜ = xÐ “þy£öìœ ¢%”éôéxy¢œ = ` 2x, ¢›ëû = 10 îŠéîû
 ›)œ•˜ = ` x, ¢îûœ ¢%” = ` x, ¢›ëû = 10 îŠéîû

¢%“þîûy‚– ¢%öì”îû £yîû
100 x

%
x 10

    
 îy!¡ìÅ„þ = 10% îy!¡ìÅ„þ

¢%“þîûy‚– ›)œ•˜ = ` x, ¢%”éôéxy¢œ = ` 3x, ¢%öì”îû £yîû =
10% îy!¡ìÅ„þ
 ›)œ•˜ = ` x, ¢îûœ ¢%” = ` 2x, ¢%öì”îû £yîû = 10%
îy!¡ìÅ„þ

 ¢›ëû
100 2x

20
x 10

    
 îŠéîû

84. •!îû ²Ìöì“þÄ„þ îŠéöìîûîû !„þ!hßþ = ` xÐ “þy£öìœ
x 4 3 x 4 2 x 4 1

x x x x 848
100 100 100

                     
     

28x 27x 26x
x 848

25 25 25
    

 (28x + 27x + 26x + 25x) = 848 × 25
 106x = 848 × 25

848 25
x 200

106


  

¢%“þîûy‚ ²Ìöì“þÄ„þ !„þ!hßþ = ` 200.
85. •!îû ›)œ•˜ ëíye«öì› ` x, ` y ~î‚ ` zÐ “þy£öìœ

x 6 10 y 10 12 z 12 15
k

100 100 100

     
  

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



11Achievers

3x 6y 9z
k

5 5 5
   

5k 5k 5k
x , y , z

3 6 9
   

5k 5k 5k 1 1 1
x : y : z : : : : 6 : 3 : 2

3 6 9 3 6 9
   

86. •!îû ›)œ•˜ = ` xÐ “þy£öìœ ¢îûœ ¢%” = `
x

4
•!îû ¢%öì”îû £yîû = R% ~î‚ ¢›ëû = R îŠéîû

2R x
x R R 25 R 5

100 4
      

 ¢%öì”îû £yîû = 5% îy!¡ìÅ„þ

87. î“Åþ›y˜ ›)œÄ
²Ìöì”ëû ›)œÄþ

S¢%%öì”îû £yîû  ¢›ëûV
× 100

×100 +

A ~îû }öì’îû î“Åþ›y˜ ›)œÄ

1573 100 1573 100
3 121100 14
2

 
                  

 = ` 1300

B ~îû }öì’îû î“Åþ›y˜ ›)œÄ

1444.50 100 144450
1 107100 14
2

 
                 

= ` 1350

¢%“þîûy‚ B, A ö„þ ` 50 ö”öìîÐ
88. •!îû– ¢%öì”îû £yîû = R% îy!¡ìÅ„þ ~î‚ ¢›ëû = T îŠéîû

“þy£öìœ–
x R T

y
100

 
 ~î‚

y R T
z

100

 


100 y
R T

x


    ~î‚

100 z
R T

y


 

2100 y 100 z y z
y zx

x y x y

 
     

89.
3

2
îŠéöìîûîû ¢%” = (873 – 756) = ` 117

2 îŠéöìîûîû ¢%”
2

117 2
3

    
 

= ` 156

 ›)œ•˜ = (756 – 156) = ` 600

¢%öì”îû £yîû
100 156

%
600 2

    
= 13% îy!¡ìÅ„þ

90. ö›yÝþ ¢%”
4

50000 8
100

    
 

= ` 16000

ö›yÝþ …îû‰þ [(1200 × 8) + (300 × 8) = ` 12000

öŠéöìœîû ²Ìy® xíÅ = [(50000 + 16000) – 12000]
= ` 54000

91. •!îû A …yöì“þ !î!˜öìëûy† „þîûy xíÅ = ` x

“þy£öìœ B …yöì“þ !î!˜öìëûy† „þîûy xíÅ
40 2x

x
100 5

    
 

2x
x 140000 7x 700000 x 100000

5
     

A …yöì“þ !î!˜öìëûy† „þîûy xíÅ = ` 100000

B …yöì“þ !î!˜öìëûy† „þîûy xíÅ = ` (140000 – 100000)
= ` 40000

!˜öì’Åëû xyëû
12 16

100000 1 40000 1
100 100

             
    

= ` (12000 + 6400) = ` 18400

92. ²Ì”_ xyöìŠé r
1
 = 12%, r

1
 = 15%

t
1
 = 4 îŠéîû– t

1
 = 5 îŠéîû

²ÌÙÀy˜%¢yöìîû–

P 5 15 P 4 12
1350

100 100

   
 

75P 48P
1350

100 100
  

27P 1350 100
1350 P 5000

100 27


    

93. ²ÌÙÀy˜%¢yöìîû–

P 4 9 P 12 12
360

100 100

   
 

36P 24P
360 12P 360 100

100 100
     

360 100
P

12


 

P = 3000

94. •!îû îÄyBþ A öíöì„þ ~î‚ îÄyBþ B öíöì„þ ²Ìy® }’ ëíye«öì› x ~î‚
(9000 – x)A

“þy£öìœ– x 5 2 (9000 x) 7 2
954

100 100

    
 

10x (9000 x)14a
954

100 100


  

 126000 – 4x = 95400
 4x = 30600

 x = 7650

B öíöì„þ ²Ìy® }’ = ` 7650

B öíöì„þ ²Ìy® }’ = 9000 – 7650 = ` 1350

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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95. ¢îûœ ¢%”
xy¢œ  ¢›ëû  ¢%öì”îû £yîû× ×

100

²ÌÙÀy˜%¢yöìîû–
P 3 7 (P 1500) 5 6

100 100

    


 21P = 30P – 45000  30P – 21P = 45000
 9P = 45000

45000
P 5000

9
    Ýþy„þy

96. •!îû !˜öì’Åëû ›)œ•˜ = ` xÐ “þy£öìœ
2

8
x 1 x 2080

100
    
 

27 27
x x 2080

25 25
      
 

 (729x – 625x) = 625 × 2080
 104x = 625 × 2080
 x = (625 × 20) = 12500
 ›)œ•˜ = ` 12500

¢îûœ ¢%”
8

12500 2
100

    
 

= ` 2000

97. ›)œ•˜ = ` 9000, ¢%öì”îû £yîû = 10% îy!¡ìÅ„þ–

¢›ëû
4 1

2 2
12 3

  îŠéîû

‰þe«î,!kþ ¢%”éôéxy¢œ

2
1

1010 39000 1 1
100 100

             
    

   
11 11 31

9000
10 10 30

     
 

= ` 11253

 ‰þe«î,!kþ ¢%” = (11253 – 9000) = ` 2253
98. •!îû !˜öì’Åëû xíÅ = ` x ~î‚ ¢%öì”îû £yîû = R% îy!¡ìÅ„þÐ “þy£öìœ

R
x 1 650

100
   
 

2
R

x 1 676
100

   
 

(ii) ö„þ (i) !”öìëû ¦þy† „þîûöìœ ­
R 676

1
100 650

   
 

R 676 (676 650) 26 1
1

100 650 650 650 25

       
 

1
R 100 4

25
     
 

(i) ~ R = 4 î¢yöìœ
4

x 1 650
100

   
 

26 25
x 650 x 650 625

25 26
        
 

!˜öì’Åëû xíÅ = ` 625

99. ›)œ•˜ = ` 16000, ¢%öì”îû £yîû = 5% ÷e›y!¢„þ– ¢›ëû =
3 ›y¢

‰þe«î,!kþ ¢%” xy¢œ
3

5
16000 1

100

       
   

21 21 21
16000 18522

20 20 20
      
 

`

‰þe«î,!kþ ¢%” = (18522 – 16000) = ` 2522

100.›)œ•˜ = ` 45000, ¢%öì”îû £yîû = 15% îy!¡ìÅ„þ– ¢›ëû =
2 îŠéîû

‰þe«î,!kþ ¢%” xy¢œ
2

15
45000 1

100

       
   

23 23 119025
45000

20 20 2
     
 

`

‰þe«î,!kþ ¢%”

119025 29025
45000 14512.50

2 2
     
 

`

——————

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å


